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I Analysyis of exception #1 in mwn — noa (is %04 if brought NYS RHW)

a
b

C

source: v. 1 —wmp mw
source: v. 2 — m9p1 mw (since WM Mw already covered, apply to next reasonable case — n9ya Mmv)
source: v. 3 teaches that proper intent is not only a desideratum (n1¥n) but also indispensible (23y%)
i challenge: v. 3 needed to teach that leftover funds of noa are used for n'n5>w (Noa can’t come from 7p1)
ii  rather: v. 3 teaches as above, 119y inferred from ®n (in v. 2) — for both wp Mw and DYya mwvw
question: what is the source for other mmay beyond nn>ar?
i answerl: once we see it, we apply it across the board ("5 )93 »R1n)
1 dissent (s~ 77): there is no principle of '23 %50 »Rin
it answer2 (»w& "): v. 4 alludes to no, TwYN ,M21, now aligned with v. 3 — wn>w
1 just as: 5w require WY for all mmay without discriminating between them — as a desideratum
2 so too: nva requires for all mmay without discriminating between them — as indispensible

I Analysis of exception #2 in nywn - nrvnN (is M09 if brought NHYH RHW)

a
b

C

source: vv. 6-8 — noNw, Nvap and np»1 for the purpose of Nrvn — all Y1p MY; 0YYa MY from v. 8 — INRLNN
source: for 21y — as »77 71 RN "7 says (below) — INRVN — is 20Yn
missing: is WP M and all but np>1 for mYya Mmw — for indispensability:
i answer (727 779):v. 9 (P11 nroN) — and, per »T 712 1", the word INRYN extends to Y1 MW as well
1 Challenge (8237): if so, how will 17 11 0" interpret In%y?
(a) Challenge to 81237 how would he interpet 1nnin and 1501?
(b) Answer: needed to indicate that m>o1 mmnan of a 129 must be brought, even at night, even next day
2 Challenge: 711 nkon and 15n nrvn cannot be used to inform each other
(@) 2 nrvm has other ma7p with it
(b) 25n nxvm: involves expiation from a n13 avn
ii  Rather: v. 10 — yn¥n nron; first part implies nrON DWY YNYWYY 93, 204 part> DHY1 MY
1 Challenge: y13¥n nron and 150 nkon cannot be used to inform each other; as above with 9’11 nron
2 Answer: perhaps we could infer one of these from the other two
(a) Dilemma: which one should be omitted?
(i) Lemmal: if 111 nRON were omitted, couldn’t infer as the other two can’t be repealed (n9xw)
(if) Lemma2: if y7¥n nron were omitted, couldn’t infer as the other two don’t have “destitute” option
iii Rather: v. 4 compares nron to 0now for the desideratum of nnW5
1  And: these other n’poa (vv. 6-8) are there to exstend it to 212y
2 Question: this covers the invalidity of ny1ap nron; what of other mxron (11 N5y ,1"p)?
(a) Answer: 1"y nRYN comes from comparison with a9n nxon - both are cases of N1
(i) And: 79 0y comes from common denominator of »71¥1 NXRVM I°11 NRON ,19N NRVN
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